LSC Practice #3 Name (LQ’UC}‘/ Per.

Given AABC: Solve the following triangles. Find all solutions. Round sides to nearest tenth and angles
to nearest minute. If it’s not a triangle, explain why not.

1. £C=2013"; b=14; c=4 2. £A=2815% /ZB=121'18; ¢=22.3
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5."a=12 b=15; c=30 0. are 130 feet and 200 feet. The angle
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C()§ »[u,_ == N : Find the length of the shortest diagonal
2((2)rs>- of the parallelogram and the area of the
parallelogram.
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7. b=123; a=16.2; c=6 8.

O R T e
cos A= 2 T T

21236 |
A= 12026 sin( = bsin 230
T (.2
&h@c = L (?((: ib = \g°35"
s 1 Bewr-Ac
P ECTS S B

?: ,3956, c=

F?; = 4p'ya'| bo123 l
9. Find the area of a triangle with sides of 12 cm,'14 cm, 20 cm.

gz—‘i ((2_-1-["(4'2® = 23

A= | 25(23-12(23 D30

A=$2.65um*

10. Find the area of a triangle if Z/B =120"15"; a=80; ¢=110
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Find the possible values of b that would
produce the indicated number of triangles
given that B=52", c=13.3.

No triangles: b < (b .S

One Triangle: b- 1. , b2 12,3

Two Triangles: |9.5<\o < |33
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